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विषय M– गणित  

कक्षाM– ८   समय -२ घण्टा                  पूिााङ्क : ५० 

 

सबै प्रश्नहरु अनिवार्य छि्। All the questions are compulsory) 

1. सर्वब्यापक समूह U={a,e,I,o,u} का  दुईर्टा उपसमूहहरु R={a,I,o} र S 

={I,o,u} छन्।Two Sub- Sets of the universal Set U={a,e,I,o,u} are 

R={a,I,o} and S ={I,o,u} . 

a)समूहहरु Rर S खप्टिएका र्ा अलग्गिएका कस्ता समूहहरु हुन् ? 

What type of sets are R and S overlapping or disjoint?[1]K 

b)माप्टथका समूहहरु भेनप्टित्रमा देखाउनुहोस् ।  

Show the above Sets in a Venn diagram. [1]U 

c) समूहहरु R र S का कुनै दुईओटा साझा उपसमूहहरु लेख्नुहोस् ।Write 

any two common subsets of set R and S. [1]HA 

2.रामले 14% छुटमा एउटा ग्गिटर प्टकन्दा रु. 1075 परेछ। Ram bought a  

sweater for Rs 1075 at discount of 14%. 

a)अप्टित मूल्य र प्टर्क्रय मूल्यको फरकलाई के भप्टनन्छ ? What is called the 

difference of market price and selling price?[1]K 

b) उक्त ग्गिटरको अप्टित मूल्य पत्ता लगाउनुहोस् । 

Find the market price of the sweater.[1]U 

c) उक्त ग्गिटर 7.5%नाफामा बेप्टिएको रहेछ भने क्रयमूल्य पत्ता लगाउनुहोस् 

। If the sweater is sold at 7.5% profit, find the cost price.[2]HA 

3.रु. २०,००० को २ र्र्वमा साधारण व्याज रु ७,२०० हुन्छ । The simple interest on 

Rs 20,000 for 2 years is Rs 7200 . 

 a) व्याजदर (R) लाई P, T र I  को रुपमा व्यक्त गनुवहोस्  ।Express interest 

rate R in terms of PT and I.[1]HA 

 b)  व्याजदर पत्ता लगाउनुहोस् । Find the interest rate.[2]U 

 c)  व्याजदरलाई 1:2  को अनुपातमा दुई भागमा प्टर्भाजन गनुवहोस् । Divide  

interest into two parts in the ratio 1:2[1]A 

4. a) दशमलर् संख्या 0.00,000४५६ लाई बैज्ञाप्टनक सिेतमा लेख्नुहोस् ।Write the 

decimal number 0.00,000456 in scientific notation [1]K 

b)यप्टद 7, 9, x, 18 समानुपातमा छन् भने  xकोमानपत्तालगाउनुहोस्।If 7,9, x,18 are 

in proportion, find the value of x .[1]U 

c)  48 जना माप्टनसलाई 30  प्टदनका लाप्टग 700kg िामल िाप्टहन्छ भने 40 

जनामाप्टनसलाई  36 प्टदनका लाप्टग  कप्टत kg िामल िाप्टहन्छ ? If 48 

peopleneeded700kg rice for 30 days, how many kg of rice is required 

to 40 people for 36 days.[2]A 

d) पञ्चआधार संख्या 4445 लाई दशमलर् संख्यामा रुपान्तरण गनुवहोस् ।Convert 

the quinary number 4445 into decimal number.[2]A 

 

5. सँगै प्टदइएको प्टित्र एउटा समलम्ब ितुभुवज ABCD आकारको एक टुक्रा जिा हो । 

जसमा  AB//DC,BCAB छ । In the given figure, ABCD is a piece of land in 

the shape of trapezium .  

 

 

 

 

 

 

 

 

 

 

a)  उक्त जिाको के्षत्रफल र्गव प्टमटरमा पत्ता लगाउनुहोस् । Find the area of 

the land in square meter.[1]K 

b) उक्त जिामा प्रप्टतप्टमटरको रु २०० का दरले बार लगाउन कप्टत खिव लाग्छ ?  

पत्ता लगाउनुहोस् । Find the cost of fencing the land at Rs 200 per meter 

.[2]A 

c)  प्टत्रभुजाकार भाग ABE कोके्षत्रफलपत्तालगाउनुहोस्। Find the area of the 

triangular part ABE.[1]U 

d)  छायाँ पाररएको भागको के्षत्रफल पत्ता लगाउनुहोस् । Find the area of the 

shaded part.[1]HA 

6. a) सरल गनुवहोस् । (Simplify):  
x2

x−𝑦
+

x2

x−y
[1]K 

b) घातािको प्टनयम प्रयोग गरी सरल गनुवहोस् ।(Simplify by using laws of 

indices). [2] 
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xb
 

a2+ab +b2

x     
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𝑏2+bc +𝑐2

 x    
x𝑐

x𝑎
 

𝑐2+ca +a2

 

7. a) खण्डीकरण गनुवहोस्।  (Factorize):5x2 -20y2[1]K 

b) लेखाप्टित्र प्टर्प्टधबाट हल गनुवहोस् । (Solve by graphical method) [2]A  

 x+y = 5and 2 x - y = 4 
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8. a) म स पत्ता लगाउनुहोस् ।(Find the HCF)[2]A    

 4a2 + 100 -6 and 4a2 -36 

 

b) हल गनुवहोस् । (Solve):(x-7)2 – 64 = 0[2]HA 

9. a) एकजोरमात्र समु्मख भुजाहरु समानान्तर भएको ितुभुवजको नाम के हो? What is 

the name of the quadrilateral baring only one pair of opposite sides 

parallel?[1]K 

b)सँगैकोप्टित्रमा XY//BC <ABC=600 र <CAY=700 भए x 

कोमानपत्तालगाउनुहोस्।In the adjoining figure, if XY//BC , <ABC=600  and 

<CAY=700find the values of x. [2]U 

 

 

 

 

c) प्टित्रमा PQRS एउटास.ि. भए x को मान पत्ता लगाउनुहोस् । In the figure, 

if PQRS is a parallel gram, find the value of x.[1]HA 

10.a) आसन्न भुजाहरु AB र BCक्रमश 6cm र 5cm 

हुने गरी आयत ABCD को रिना गनुवहोस् 

।Construct a rectangle ABCDin which the 

adjacent sides AB and BC are 6cm and 

5cm respectively.[3]A 

 

b)  प्टित्रमाBC//DE छ ABC र ADE समरुप हुन्छन् भनी प्रमाप्टणत गनुवहोस् ।  

In the given figure, BC//DE. show that ABC and ADE are 

similar.[2]HA 

 

 

 

11. a)प्टर्न्दुहरुA(-3,-4) र O(0,0)  प्टर्िकोदुरीपत्तालगाउनुहोस्। Find the distance 

between the points A(-3,-4) and O(0,0).[1]K 

b) प्टर्न्दु  A बाट प्टर्न्दुB को प्टदशा ग्गिप्टत 0600 छ  भने B  बाट A  को प्टदशा ग्गिप्टत कप्टत 

हुन्छ ? If the bearing of point B from point A is 0600, What is the bearing 

of A formB?[2]U 

c) शीर्व प्टर्न्दुहरु E(4, 6), F(-4, 3) and   G(2,-5)  भएको EFG  लाई  x- अक्षमा 

परार्तवन गदाव बने्न प्रप्टतप्टर्म्भ E FG  का शीर्व प्टर्न्दुहरु पत्ता लगाउनुहोस् ।Find the 

vertices  of the image of theEFG under the reflection on x-axis. If 

vertices ofEFG are E(4, 6), F(-4, 3) and   G(2,-5) Also represent the object 

and imagein asame graph.[3]A 

12.एउटा कक्षाका 30 जना प्टर्द्याथीको  प्रथम तै्रमाप्टसक परीक्षाको गप्टणत प्टर्र्यको 

प्राप्ताि तलको ताप्टलकामा प्टदइएको छ । Marks obtained by 30 students  in 

mathematics at the first term examination are given below . 

प्राप्ताि 

Marks obtained 
20 25 30 35 40 45 50 

प्टर्द्याथी संख्या 

No. of students 
3 4 5 8 5 4 1 

a)  गप्टणत प्टर्र्यको  और्त प्राप्ताि पत्ता लगाउनुहोस् । Find the average 

marks in mathematics [2]A 

b)  मग्गिका पत्ता लगाउनुहोस् । Find the median.[1]A 
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;a}k|Zgx? clgjf{o 5g\ .(All the questionsarecompulsory) . 

1. ;j{Jofks;d"xU={10 eGbf;fgf k"0f{;+Vofx?}sfb'O{j6f pk;d"xx? E= {10 

eGbf;fgfhf]/ ;+Vofx?} / P= {10 eGbf ;fgf ?9 ;+Vofx?} 5g\ .Two 

subsets of the universal set W= {whole numbers less 

then10} and E={even numbers less then10} and P= {prime 

number less then 10} . 

a. ;j{Aofks ;d'xUnfO{ ;"lrs/0f ljlwaf6 n]Vg'xf];\ . (List the 

element of Universal set U.)[1 K] 

b. Dflysf] hfgsf/LnfO{ e]glrqdf b]vfpg'xf];\ . (Show the above 

information in a venn- diagrams.)                            

[1A] 

c. ;d"xE/ P cnlUuPsfjf vlK6Psf s:tf ;d"xx'g\ . sf/0f;lxt 

n]Vg'xf];\ . (What types of  set are E and P 

overlapping or disjoint sets ? Write the reason.) [ 

2HA ] 

2. ?.45000kg]{ Pp6f df]afO{n 20% 5'6df a]lrP5. A (Mobile costing 

Rs.45000 is sold at a discount of 20%.) 

a. 5'6 k|ltztkQfnufpg] ;"q n]Vg'xf]; .(Write the formula to find 

discount percent .)      [1K] 

b. 5'6 /sdkQfnufpg'xf];\.( Find the discount amount .)[ 1U] 

c. pStdf]afO{n 10%3f6fdf a]lrPsf] /x]5 eg] s|od"NokQfnufpg'xf];\ .( 

If the mobile is sold at a loss of 10%findthe cost 

price.)[ 2A] 

3. KffFrjif{df ? 7200sf] ;fwf/0f Aofh ? 1080 x'G5. (The simple 

interest onRs 7200 for five years is Rs 1080.) 

a. ld>wg / d"nwgsf] cGt/nfO{ s] elGg5 ?( What is called the 

difference of amount and the principal ?)[ 1K] 

b. Aofhb/ kQfnufpg'xf];\.( Find the rate of 

interest.)[2U]   
c. AofhnfO{7:5sf] cg'kftx'g] ul/ b'O{ efudfljefhgug'{xf];\ . (Divide 

the interest into two parts in the ratio 7:5.)                                     

[ 2HA] 

4. tnsfk|Zgx?sf] pQ/ n]Vg'xf];\ . (Write the answer of the 

following questions.) 

a. l4cfwf/ ;+Vof k4ltdf s'gs'gc+sk|of]u x'G5g\ < n]Vg'xf];\ 

.(Writedown the digits used in binary number 

system.)[ 1K] 

b. ;+Vof0.000000372nfO{ j}1flgs ;+s]tdfAoStug'{xf];\ . 

(Express the number 0.000000372 in scientific 

notation.) [1U] 

c. 1.57nfO{leGgdf ?kfGt/0f ug'{xf]; . (Convet 1.57 into 

fraction.)  [1U] 

5. Pp6f cfotsf/ ;txsf] nDafO{ 20 ld6/ 5 / kl/ldlt64 ld6/ 5 eg] (The 

length of a rectangular surface is 20 meters and the 

perimeter is 64 meters) .  

a. cfotsf] kl/ldltkQfnufpg] ;"q n]Vg'xf];\  . (Write the formula to 

find perimeter of rectangle.)[1k] 

b. pSt ;txsf] rf}8fO{ kQfnufpg'xf];\.( Find the breadth of the 

surface.)[1U] 

c. pSt ;txdfk|ltju{ld6/sf] ? 100sf b/n] /ª nufpbfsltvr{ nfUb5 

<(How much does it cost to color the surface at the rate 

of Rs  100 per square meter.) [1A] 



d. pSt ;txsf] nDafO{ / rf}8fO{sf] cg'kftkQfnufpg'xf];\ (Find the 

ratio of the length and the breadth of the surface.)  [ 

1HA] 

6. a.;/n ug'{xf];\ . (Simplify) [ 2U] 

1

𝑎+𝑏
+

1

𝑎−𝑏
-

2𝑎𝑏

𝑎2− 𝑏2 

b.olbx=3° + 2 eP x sf] dfgkQfnufpg'xf];\ .If x= 3° + 2 . (find the 

value of x.)          [ 1A] 

   c. x sf]  dfgsltx'Fbf𝑥2-5x+6 sf] dfgz"Go x'G5 . (What value of x , the 

value of 𝑥2-5x+6 is zero?)     [2HA] 

7.b'O{j6f ;lds/0fx? tnlbOPsf 5g\ . (Two equation are given below 

2x-y = 5 and x-y = 1)  

 a.lbOPsf ;dLs/0fx?sf] k4ltnfO{ s] elGg5 ?( What are the systems of 

equation called ?)[  1K] 

b.n]vflrqsf] k|of]u ul/ lbOPsf ;lds/0fx? xnug'{xf];\. (Solve the given 

equation by using graph.)[ 2 A] 

8. a.d=; kQfnufpg'xf];\ . Find the H.C.F of: [2U] 

𝑥2 − 4 and 𝑥2 + 5𝑥 + 6   b. olbb'O{j6f ;+Vofx?sf] of]ukmn25 / km/s 

15 5 eg] tL;+Vofx? kQfnufpg'xf];\ . If the sum of two numbers is 25 

and their difference is 15 findthenumbers. [2HA] 

c.v08Ls/0fug'{xf];\ . (Factorize)               [2U] 

     6𝑥2-13x+6 

9.  a. x /ysfdfgx? kQfnufpg'xf];\. Find the value of x and y.y[ 2A] 

X     

60° 

b. ;dfgfGt/ rt'{e'hsf] /rgfug'[{xf];\ . h;sfcf;Gge'hfx?sf] gfk6 cm / 

4cmtyfltlgx?larsf] sf]0f 60°5 . (Construct the parallelogram 

having measure the adjacent side 6 cm and 4cm and the 

angle between them is 60°.)[2A] 

10.  a. PQ= 6 cm QR = 5cm x'g] u/L cfotPQRS /rgfug'{xf];\ .  

Construct a rectangle PQRS in which PQ = 6 cm abdQR =5cm[ 

2HA]  

b.lbO{Psf] lrqdfxsf] dfgkQfnufpg'xf];\. Find the value of x in the give 

figure .[ 2U] 

    C               xcm 

     5cm 

  B   12cm           A 

11.  a. lqe'hfsf/ lk|Hddfsltj6f ;dtnLo ;txx? x'G5g\ <(How many 

plane surfaces are there in a triangular base prism.)                    

[ 1K] 

  b. A:yfgaf6  B:yfgsf] lbzf l:ylt 045° 5 eg] B :yfgaf6 A :yfgsf] lbzf 

l:ylt kQfnufpg'xf];\ . (The bearing of place B from place A is 045° 

Find the bearing of the place A from place B.)[ 2U] 

c. zLif{laGb'x? A( 2,-3) , B( 6,-3) ,C( 6, -7) D(2, 7) ePsf] ju{ ABCDnfO{ 

x-cIfdf k/fj{tgubf{ cfpg] k|ltlaDasflgb]{zfª\sx? n]Vg'xf];.\ (Find the 

vertices of image of square ABCD fromed by reflecting 

asquare ABCDhaving coordinate of verticesA( 2,-3) , B( 6,-3) ,  

C( 6, -7) and D(2, 7).                          [2HA ] 



 

12. Pp6f ljBfnodfePsfljBfyL{x? ljj/0fnfO{tnsf] tflnsfdflbOPsf] 5 . (The 

information about the students of a school is given in the 

table below.) 

 

 

 

a. pStljBfnosf] k|ltsIffcf};t ljBfyL{ ;+Vofslt /x]5 <What is the 

average number of students per class in that school ?                              

[ 1K] 

b. dflysf] tYofª\snfO{ j[Q lrq k|:t'tug'{xf];\<(Represent the above 

data in a pie chart .)[ 2A] 

 

 

 

 

 

 
 
 
 
 
 
 
 
 

 

 
Class 

 
 One 

 
Two 

 
Three 

 
Four 

 Number  
 Of 
students 

 
 40 

 
 50 

 
 60 

 
 30 


